Use Line Graphs to Solve Problems
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A. Which plant grew the tallest?
B. Which plant stopped growing for a week?
C. Which plant grew the most between week 1 and week 6? /e

3. What could this line graph be showing? Explain your choice.

A. The percentage of people living in different types of houses.
B. The weight of four different animails.
C. Time taken to run stages of a race.
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Use Line Graphs to Solve Problems
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A. Belween what two distances was Sarah’s golf ball higher than 50 feet?
B. How far was Joanna’s golf ball off the ground at 700m?

C. Whose ball reached the highest point when it had travelled half its distcmce?HW/EVXFT

6. What could this line graph be showing? Explain your choice.

A. Children’s favourite flavoured crisps.
B. Number of visitors to different altractions each month.
C. The percentage of pupils who walked to school today.
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Use Line Graphs to Solve Problems

7 Times in a triathlon
A. Who cycled the
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Time in minutes
A. When was the red kite higher than the rest?

B. How much did the blue kite drop between 25 and 45 minutes?

C. Which kite was the lowest after a third of the total time measured? HW/EV;

9. What could this line graph be showing? Explain your choice.

A. The time taken by four different runners.
B. The favourite colours of three classes.
C. The growth of three different trees over time.
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